2.3

The 3(/3( bids by responder after bidding Stayman
In this section we discuss the situation where opener replies to Stayman with a major suit bid and responder then bids a minor at the 3 level. So the four sequences: -

1NT  -  2(  -  2(  -  3(
1NT  -  2(  -  2(  -  3(
1NT  -  2(  -  2(  -  3(
1NT  -  2(  -  2(  -  3(
Four fairly similar sequences, a 3 level minor suit bid after Stayman had received a major suit reply. But what does this 3(/( bid mean? If you ask around then you will probably get any or all of the following: -

1)
The 3(/( bid is to play, saying nothing about majors.

2)
The 3(/( bid is natural, looking for slam, saying nothing about majors.

3)
Natural, 4 card major & 5 card minor, game forcing. 

4) 
Natural, 4 card major & 5 card minor, forcing for one round.

5)
Natural, 4 card major & 4 card minor, seeking a 4-4 fit for slam.

6) 
Natural, invitational.

7) 
Natural, weak, 4 card major & 6 card minor.

8)
3( is Stayman in Doubt (SID).

9)
3( is Spring Stayman


10) A more sophisticated idea for both 3( and 3(.

Many non-steady partnerships will have never discussed this, so let’s look at all the sensible alternatives (assume a strong NT throughout): -

1) The 3(/( bids are to play

Back in the days before transfers (to minors) it was not easy to play in a ( contract with a very weak hand because 2( is Stayman and 3( a slam try. The solution was to first bid 2( and then 3( over any response. The 3( bid simply showed 6 (’s (probably no 4 card major) and was to play. These days we have transfers to the minors and so this meaning is redundant. Now that transfers to the majors are common (so 2( is used as a transfer to (’s), the same situation applies in (’s. 

So, no sensible use for our 4 sequences yet. Let’s continue the search: -

2) The 3(/( bid is natural, looking for slam, saying nothing about majors.
This scheme is favoured by players who do not play 4-way transfers and who would like to play direct jumps to 3(/( as something special. The direct jumps to 3(/( are discussed in detail later. Anyway, we play transfers to the minors and so do not need these bids to show good minor suits.

3) Natural, 4 card major & 5 card minor, game forcing 

This is the most popular use of the bids, but it is totally unsatisfactory!

Hand A
Hand B 
Partner opens a strong NT. So bid Stayman and then your long





minor if no major suit fit is immediately found? Certainly a

( 2
( AK98 
plausible use for these sequences. But wait a minute, we will  

( K984
( 8
learn later that a transfer followed by a new suit is game 

( J3
( KQJ83 
forcing. So we can bid both of these hands by transferring to

( AQJ763
( 872

the minor and then bidding the major. Game forcing. 

Now bidding Stayman on these hand types is a popular treatment, but there are drawbacks. 

If LHO sticks his oar in and the opponents compete, then opener is left in the dark. You have bid 2( and that really means nothing – you could be weak, invitational, have a 4 card major or not etc. At least if you transfer to the minor partner knows something about your hand, and LHO is less likely to interfere over 2(/NT. If you bid Stayman first then you have little chance of showing both suits if opponents intervene.

But my main objection to this treatment is that opener does not know which 4-card major responder has if opener responds 2(. Consider these examples: -  

Example 1

West
East 1
East 2
West
East

( A4
( 75
( Q1087
1NT
2(
( KJ9
( Q1087
( 75

2(
3(





( A962
( K7
( K7
? (1)




( KJ76
( AQ543
( AQ543




So what does West bid at (1)? If East has Hand 2 then 3NT is fine, if East has Hand 1 then West wants to play in the Moysian ( fit. 

Example 2

West
East 3
East 4
West
East

( A4
( K5
( Q1087
1NT
2(
( KJ9
( Q1087
( 7

2(
3(





( A962
( 7
( K5
3NT (1) 
4(




( KJ76
( AQ10543
( AQ10543
?

Let’s suppose that West tosses a coin and it comes down 3NT, so he bids 3NT at (1). This happens to be no problem as partner has a stronger hand this time and is looking for slam anyway. So East bids 4(, looking for a ( slam; West would be delighted to accept if he knew that his (’s were working (East 3) but not opposite East 4.

Bidding Stayman unnecessarily gives the defence knowledge about opener’s hand. If opener responds 2( or with the ‘wrong’ major then the defence has additional information about his hand. And you are no better off if you bid Stayman and a 4-4 major suit fit is found immediately. If opener also has a fit for responder’s minor then there may well be a slam which is easier to find if responder had bid both of his suits: -

Example 3

West
East 

West
East

( Q743
( K8

1NT

2(
( AQ74
( K963


2(

4(





( A3
( 84

pass




( KJ8
( AQ764



The ( fit is found immediately but East has no idea about the superb ( fit and so quite reasonably simply bids game. An easy 6( missed.





__________________

Example 4

West
East 

West
East

( AQ74
( K963

1NT

2(
( Q743
( K8


2(

3(





( A3
( 84

3(  (1)
4(  (2)



( KJ8
( AQ764

pass

This time West knows about East’s two suits at (1) so he shows his ( support, he cannot realistically do anything else as he has no idea if East is interested in slam or not. And at (2) East does not know about the great ( fit and again quite reasonably just bids game. Slam again missed.


__________________

We will see how easy it is to bid these last four example hands correctly when we come onto minor suit transfers, and in particular minor-major two suiters, in section 4.2




__________________

( K963
And one further point. Consider this East hand from example 4 but slightly

( Q8
stronger. Suppose that partner opens 1( (or 1(), what do you respond? 


( Q4
This is an analogous situation, you have a game forcing two-suiter opposite

( AQ764
partner’s opener. The recommended bid is 2( followed by a forcing ( bid.


So why on earth would you want to do it the other way round when partner 
opens 1NT? And, what’s more, partner does not even know that it’s a ( suit 
when you bid Stayman!

No, these types of hands must be bid by transferring to the minor and then bidding the major, opener then knows both of responder’s suits. Simple.

4) Natural, 4 card major & 5 card minor, forcing for one round
This is one answer that I got when I was asking about the sequence. I guess an invitational sequence?

Since the 3(/( bid is at the three level it is difficult to see how this is not game forcing. Makes no sense to me. We use the transfer to a minor sequences with strong hands and so this meaning does not exist. Let’s look further for a useful purpose for these sequences: -

5) Natural, 4 card major & 4 card minor, seeking a 4-4 fit for slam.
Hand A
Hand B 
Partner opens a strong NT and the hand is worth slam if (and 





probably only if) there is a 4-4 fit. So obviously start with 

( K92
( KJ52 
Stayman and if no major fit materialises then bid your 4 card 

( KJ52
( K92
minor looking for the fit there. This obviously is the best use

( AJ83
( K3
so far and is very sensible. But actually there are a couple of

( K3

( AJ83
drawbacks. First, could this 3(/( bid be a 5 card suit?

Hand C
And secondly how does responder bid if he has no 4 card major but


one or two 4 card minors, say Hand C? The problem is that responder has

( K92
 
started off by being the captain and finding something out about opener’s 

( K3

shape, but by then bidding naturally he is passing some of the captaincy

( AJ83

back to opener. As you will see later, we have a far better scheme whereby

( KJ52
responder can establish if opener has a 4 (or 5!) card minor(s).


6) Natural, invitational
Why not transfer? If responder does not have a 4 card major but has a minor suit, then he can transfer into the minor or simply invite with 2NT (via 2( playing 4-way transfers). As we see later when we discuss 4-way transfers (specifically transfers to a minor) opener can show game interest when responder transfers to a minor.

Hand A
Hand B
With Hand A we simply invite with 2NT (via 2( as we




shall see later).

( K106
( 976
Hand B is similar, but with no real possibility of an entry

( 87
( J4
outside (’s it is best to transfer into (’s. If opener has 


( K9876
( KQ8764
the (Axx required to make 3NT then he will super-accept.

( Q42

( J2
We go through all of this later.

7) Natural, weak, 4 card major & 6 card minor

Hand A
Hand B 
Partner opens a strong NT. Seems simple, look for the 4-4 fit





and if it does not materialise then settle for 3 of the minor. 

( 2
( Q984 
Let’s look a little deeper. With Hand A we have no problem, if 

( Q984
( 2
partner bids 2(/( then we bid 3(; works fine if partner is

( J3
( J3 
on the same wavelength. But then what about Hand B? You 

( Q87642
( Q87642
may miss a 4-4 ( fit. Now this scheme works fine (you may 

occasionally miss a 4-4 ( fit) and is what I would recommend  

if these sequences were not needed elsewhere. 

Oops, I’ve given it away – there is a really good use for both the 3( and the 3( bids in these sequences. So with these hand types, simply transfer into the minor.

8) 3( is Spring Stayman
With this convention, popular in France, the 3( bid is artificial and asks opener to define his hand; in particular the minor suits. This convention is, in fact, very similar to what we shall be using but has the disadvantage that the bidding may go above 3NT when there is no fit.

So what do we use these sequences for? The 3( bid is used to find out about opener’s minor suit distribution, fully covered in section 2.5. The 3( bid agrees the major suit as trumps and enquires: -

9) 3( is Stayman in Doubt (SID)
Stayman in Doubt (SID) is a convention designed to ignore 4-4 major suit fits when both hands are 4333 (or 3433). When responder has one of these flat hands with game values and partner opens 1NT then responder bids 2( Stayman. If opener replies in responder’s 4 card major then responder bids an artificial 3( that says ‘I am totally flat with 4 of your major, if you are also totally flat then bid 3NT’. This enables the contract to be 3NT when there is total duplication of shape. Now you need only to refer back to section 2.1 to see what I think of this philosophy. Even with total duplication in shape 4 of the major is usually best unless there are 28+ points with all three outside suits very well covered. However, this philosophy of 3( to ask about opener’s shape can be extended such that it is a really useful conventional bid; especially when investigating slam.

 Let’s call it Advanced Stayman in Doubt (ASID). It’s fully described next.

10) A more sophisticated idea for both 3( and 3(
We have just decided to use 3( as a shape/strength enquiry (ASID) when the major suit is ‘agreed’ as trumps. But what about that 3( bid? We shall use 3( to enquire more about opener’s distribution, normally specifically looking for a minor suit fit. This is our form of minor suit Stayman. It is widely used in Holland and is superior to the French equivalent, Spring Stayman. More about it later.
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